H & 0l & AHS B Ml A

20258 = =0llah LB LXtelZ M

M LXtelZ Mzt

I NSAE Zde 2 NS oY
Cel: FEAIR BN Y 22X (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
VRSN 17,662,402 16,916,578 745,824
= 400,260
N 402,505
Jl 32,200
== 2,004,731
Al 14,822,706
HEAE 243 & NSEH & 9,844,078 11,561,108 1,717,030
= 8,160
N 400,000
== 685,212
Al 8,750,706
SdSAE SFd & 22X 664,020 1,219,186 555,166
[ 81,500
Al 582,520
HEANE 243 K& 274,440 293,700 /19,260
101 @124H| 13,490 13,000 490
M ORIMZZ2NSE S 13,490 13,000 490
0 dSAIE st38l o=
13,490,000 » 14 13,490
201 er23| 87,700 107,180 19,480
01 AtR2te|HI 24,700 26,680 1,980
0 «Bt=EH| 12,300
O dEANE S28H M
1,500 *2,000% 3,000
O HEANE E2E ST A
100,000 *4H 400
HSANE EEE =5 7€
5,000& 1, 30004 6,500
O dSAE WSl M
12,0002 x200% 2,400
U 2g+< 1,400
O =#8Y gy FAY
100,000 »7 & »23] 1,400
0 iz 11,000
O Hetel= WEAZ 23l 34 gtz
11,000,000 * 14| 11,000
2 5234l 63,000 63,000 0
O 2323 % HMAl 63,000
O dSANE S8+ &=
200,000 * 19 A+ 128 45,600
O =AM SS3HEe 332= 1,800
&= 100,000& ~12& 1,200
oot E 50,0002 123 600
O SNy &3¢ 552= 1,800
SpE= 100,000 »12& 1,200
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I NSAE Zde 2 NS oY
el MEAIR BENH Y 29X (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
dotez 50,000& * 122 600
O EANE SS5Ed 532= 1,800
&z 100,000 «12& 1,200
doteE 50,000& * 122 600
O dSAE dousat M|e=s
500,000 * 12«20 A 12,000
202 04l 3,600 4,320 NT20
01 =LHOHI 3,600 4,320 AT20
O d8 SAE gRaAs
20,0002 x32*102 <32 1,800
O dSAE & &0t =8
20,0002 x3EH*10 *33] 1,800
301 EtE NS 4,050 3,600 450
11 dAMEEIXIZE S 4,050 3,600 450
O dSAE geltdsl 344 sAM3
9,000 +30& 270
O dSAEME M4 S4HS
9,000 x30& *43] 1,080
O dSAE SaZd Z4T S4HS
9,000& *30& x 102 2,700
401 AlZHIZL S0 165,600 165,600
01 Al&H| 165,000 165,000
O dSAME ANd=E RAE
100,000,000 *14] 100,000
O MSAIE MIIAE tEEH
15,000,000 * 14! 15,000
O dSAE Jt2s & &IANE [+
50,000,000 * 14 50,000
03 Al 2 HHI 600 600 0
O dSAE 23HE At
600,000 %14 600
HSAE SHSHARAIL (EX) 6,600 8,526 1,926
== 3,300
Al 3,300
307 212+01& 6,600 8,526 1,926
< 3,300
Al 3,300
02 LB HAHE L 6,600 8,526 A1,926
O 8SAME HHSHXI2A
6,600,000 *14] 6,600
= 3,300
Al 3,300
HEAE & &I FHAE 121,680 120,000 1,680
201 fet=3| 1,680 0 1,680
01 AtR2t2|HI 1,680 0 1,680
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U 2g+< 1,680
O =M X& dAt XHE X=3HI
120,000& x2S »7d 1,680
307 @I2to| & 120,000 120,000
02 QB HANSEER 120,000 120,000
O E3tAd =M X
30,000,000& *14{ 30,000
O &sAd =M X
30,000,000& x14] 30,000
O Bat2a =0 N
30,000,000 *14! 30,000
0 23202 &/ K&
30,000,000 *14{ 30,000
HEAE BHE 2ENA(EX) 12,000 10,800 1,200
= 3,400
Al 8,600
201 er=23| 12,000 10,800 1,200
= 3,400
Al 8,600
02 S3=gHl 12,000 10,800 1,200
0 =32= € HA 12,000
O HEANF BUZ 29 X9
12,000,000 * 14| 12,000
< 3,400
Al 8,600
HEANZT H=FLULM 2E(EX) 24,300 26,160 21,860
= 7,300
Al 17,000
307 gl2to| & 24,300 26,160 1,860
=S 7,300
Al 17,000
02 QB AANEER 24,300 26,160 1,860
O dSAE =3 0LN 29
24,300,000 * 11 2 24,300
< 7,300
Al 17,000
SHIANESEAMS(EX) 225,000 0 225,000
= 67,500
Al 167,500
403 AXIEMSA=Z01d 225,000 0 225,000
= 67,500
Al 157,500
02 SVI2S0 U H=E P EAIEI 225,000 0 225,000
O SESFANESEAS (2322 E)
5,000,000 * 14 225,000
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< 67,500
Al 157,500
INE:EE DN IR PSONE! 87,008 83,072 3,936
= 8,160
< 5,712
Al 73,136
2HINES & Sotetd 2t 59,808 63,152 A3,344
101 @124H| 19,258 18,932 326
M ORINZZE2NSES 19,258 18,932 326
O SotEAIRE AHIX#
80,2403 x 1022 * 12 19,258
201 Zet=3h] 31,350 33,820 A2,470
01 AtR2t2|HI 31,350 33,820 A2,470
0 &Bt~=SH| 20,800
O AHIX BE5 22 MEH
11,0002 * 100 1,100
O sSiterdze| 822 M
1,500& 200 +83] 2,400
O #shtAgA 018 2228 M
1,500 +5,000% 7,500
O daMmeEs 7Y
12,0002 * 15582 1,440
O SAEA 7Y 30,0003 *702 A 2,100
O #EARID| 228 7¢ 1,500
SAHI EH 500,0002 *1CH*23] 1,000
ZEH &4 250,000 *1CH*23 500
O 32 & udl 255
13,0003 105+ 122 1,560
O 28 EREIN & 3SgNF =2
16,0002 x1002+23] 3,200
O 2g=¢ 5,600
O SIHUHAAZ A+
100,000& 14 & ~42] 5,600
O =4l 4,950
O ZMIIE ge=d
9,000 %58 x110! 4,950
202 04| 3,200 4,400 1,200
01 =LHO LI 3,200 4,400 1,200
O X9 2otetd g2=a
20,0002 x2E*102 #4323 1,600
O aHIAMES GRFA
20,0002 x2Z*102 #4323 1,600
307 @120l & 6,000 6,000
02 QB AANEE R 3,000 3,000
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O AU dga
3,000,000 *14] 3,000
05 212+ =S 3,000 3,000 0
O U0 XA AtAlZA JROE]
50,000% 602 3,000
YA HSIXA(EX) 27,200 19,920 7,280
= 8,160
= 5,712
Al 13,328
301 EetE NS 27,200 19,920 7,280
= 8,160
= 5,712
Al 13,328
14 JIEt 2 a3 27,200 19,920 7,280
[] 280124 QIMIES 22
27,200,000 * 14| 27,200
= 8,160
= 5,712
Al 13,328
HE Ol XSS H 2l 8,293,050 10,258,850 21,965,800
=S 478,000
Al 7,815,050
a4z 348 X3 2,791,000 3,800,000 1,009,000
201 2= 10,000 10,000 0
01 At22t2l] 10,000 10,000 0
0 get+=EH| 10,000
O 2489 NAME ZAH M
1,500& 2,000 3,000
O 2430 X E22(RIEH 8) &
2,000 *1,0002 2,000
O 42430 ¥ 82 =Y HH
100,000 * 1074 *32] 3,000
O dINFSE 7Y
50,0002 x105+43] 2,000
306 £EX= 1,000,000 1,000,000
01 9= 1,000,000 1,000,000
0 2430 SHES N3N &
1,000,000,000& *14] 1,000,000
307 212+01& 1,781,000 2,777,000 996,000
02 LB HANHEE 77,000 77,000 0
O XNEa30 2= 25 Al
27,000,000 * 14| 27,000
O 2430 22491 OHHE SEdst 2HL4E
20,000,000 * 14 20,000
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M MNSAE gde ¥ AG3H &E
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O aarZ80l =il OHE E2HIE X2 A
& 30,000,000 x14! 30,000
0B OIXtEE S 1,704,000 2,700,000 996,000
O 2430 Sd25 0IX2ds 1,704,000
O 20208 A43¢ Sell25 0283
16,800,000, 0003 *3% 504,000
O 20238 24802 SeE25 OIM2A=
20,000,000, 000& *3% 600,000
O 20243 2430 SES OIM2AHS
10,000,000, 000& *3% 300,000
O 20258 2450 S22 OIA2d =
10,000,000, 0003 *3% 300,000
KNS -5t 26,750 30,350 A3,600
202 04| 2,000 5,600 A3,600
01 =LHAHI 2,000 5,600 A3,600
O XNSBHER =
20,0003 »2& 502 2,000
203 BR8] 24,750 24,750
03 AIF=AIH 2= 24,750 24,750
O AMzzee =3
18,000,000& * 14! 18,000
O XSGR =&
6,750,000 * 14! 6,750
XA S S2 LT (XHH) 4,042,000 4,162,000 120,000
201 L= 240,000 360,000 A120,000
01 AFR2t2ltl 240,000 360,000 120,000
0 «Bi=EH| 140,000
O &35 Hifatd g =2
10,000,000, 0003 * 1% 100,000
O ZEAIIE HMEHIS
2,000 *10,0000HK 20,000
O =4 Wl 89
5,000,000 42} 20,000
0 2etE5| 100,000
O ZEAFIIE 20U 22|
100,000,000& * 14! 100,000
301 LENZ 3,802,000 3,802,000
14 DBt 2 a3 3,802,000 3,802,000
0 &3 oz BHS
38,000,000,0002 *10% 3,800,000
O &45d RFEMS AOENS
200,000 *10=! 2,000
NAMNSAEH LA (EX) 650,000 2,000,000 /1,350,000
< 195,000
Al 455,000
301 LtENZ 650,000 2,000,000 /1,350,000
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B FMEAD BA U KB O
o HEHO XSFH 22l (SH9 H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
< 195,000
Al 455,000
14 IIEt2 8= 650,000 2,000,000 /1,350,000
O AZ2 80442 PE2
650,000,000 * 14 650,000
= 195,000
Al 455,000
2401 AfHHE MIQIXI AF(ExX) 103,300 166,500 263,200
== 31,000
Al 72,300
308 AHXIHMSO0IA 103,300 166,500 /63,200
< 31,000
Al 72,300
18 SIS0t 4 A A A 103,300 166,500 263,200
O 2430 MBS MRS At
103,300,000 *14] 103,300
= 31,000
Al 72,300
24301 Ol0I2S XIZAIE(EX) 240,000 0 240,000
== 120,000
Al 120,000
308 AXIHMSO0IA 240,000 0 240,000
[ 120,000
Al 120,000
13 SIS0t 4 A A A 240,000 0 240,000
O A&rZ0! Ol0I25 XA
240,000,000 x 14 240,000
= 120,000
Al 120,000
24T ItERE XM (EX) 440,000 0 440,000
s 132,000
Al 308,000
308 AHXIHMSO0IA 440,000 0 440,000
[ 132,000
Al 308,000
183 SV 2SS & HAET AL 440,000 0 440,000
O Aatsel stex2 X
440,000,000 x14] 440,000
= 132,000
Al 308,000
B E ALY 800,000 0 800,000
Xl 400,000
= 120,000
Al 280,000
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M ZAEE & NEBNEHS
ol delEE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 2LHoIH 8,100 7,900 200
O XS AeIAgG gRF
20, 0002152+ 142! 1,400
O X% gxel 22 2 93 B4
80,0002 x5 *x2 2 *43] 3,200
O XS LXelArd Xed=
20,0003 x5& 232 2,300
O NSSH sl 2asl &4
80,0002 x5 +3 1,200
301 EtE NS 3,720 3,440 280
11 #AIAHIXIZ S 3,720 3,440 280
O STAl X2t AREN F4A 2
MRS 9,000&*40& +53] 1,800
O MaIEEH 018 253 & Ast F44
SAHS 9,000& *40& =22 720
O NSLAeIArY 8T S 2
= 4,0002 x150E 22 1,200
308 XM SOIE 8,000 0 8,000
18 SIS 3 AS A 8,000 0 8,000
O XS3H S8 et&ds] Z0
8,000,000& *12] 8,000
2iellls & Hid 2EW AFRES 50,000 0 50,000
207 ARl 50,000 0 50,000
01 H1ESH] 50,000 0 50,000
O g€Xell= 8 5iE 2EY IS AH
50,000,000& »14] 50,000
axtel 32 Sg EHS(SH0IX) R 6,000 0 6,000
201 er2 3| 6,000 0 6,000
01 AtR2te|HI 6,000 0 6,000
0 2elE5| 6,000
O 2Xtel 382 S& SAS(SUOIN) |
Lk 6,000,000 * 14 6,000
NEEN L Aol 1,434,040 1,197,394 236,646
= 190,000
< 300,180
Al 943,860
SI2ZANG(EX) 101,840 101,844 Yav:!
& 10,180
Al 91,660
101 @124H| 95,200 95,144 56
= 9,520
Al 85,680
MU IIRINZZENSES 95,200 95,144 56
00 S322ZAE IFY
95,200,000 * 14 95,200
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M ZAEE & NS NEHS
ol UsSEA 2 Ao (Sl &
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 9,520
Al 85,680
201 Ler=23 | 4,000 4,000 0
= 400
Al 3,600
01 AtR2t2|HI 4,000 4,000 0
0 «Bt=EH| 4,000
O XNEAM HI= 500,000 <22 1,000
S 100
Al 900
O 828 =% X
100,000 1094 A+23] 2,000
= 200
Al 1,800
O HENRRE 7
500,000& 22 1,000
& 100
Al 900
202 04l 1,000 1,200 A200
= 100
Al 900
01 =LHNHI 1,000 1,200 A200
[ BB22AY S N=AS
10,0003 x2& x50 1,000
=S 100
Al 900
206 M=l 1,640 1,500 140
< 160
Al 1,480
IEET 1,640 1,500 140
O oEEY 2 A2EN HE 2
820,000 22 1,640
= 160
Al 1,480
NASSH LRCIA (HEAL ) (EX) 370,000 333,000 37,000
== 222,000
Al 148,000
101 e124d| 365,000 320,000 35,000
< 213,000
Al 142,000
M ORIMZZ2NSE S 365,000 320,000 35,000
O NSASSHLERCIAIY IFAAUEE )
365,000,000 x 14 365,000
= 213,000
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ool DBEX U AL (ol m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 142,000
201 et 3| 5,000 3,000 2,000
== 3,000
Al 2,000
01 At22telt] 5,000 3,000 2,000
0 get+=EH] 5,000
O BOIX 28 L HHDS B0 RIE
200,000 #23 400
= 240
Al 160
O NASSH M= 22F 7L (AR
g2, U 8) 100,000 *36H 3,600
[ 2,160
Al 1,440
O NATSHLTZIAL KIEA Hx
500,000 22 1,000
= 600
Al 400
206 M=H| 10,000 10,000 0
== 6.000
Al 4,000
01 MHZHI 10,000 10,000 0
O XgssSHeite 22Fa He 7L
10,000,000 * 14| 10,000
= 6,000
Al 4,000
HAXHLE -3A (XEA) 4,200 10,000 15,800
201 er23| 4,200 7,800 A3,600
02 s3=gHl 4,200 1,800 2,400
0O 2322 2 HAl 4,200
O #3Y 3ld olez
350,000 * 122 4,200
FHAXYLE LB (EX) 270,000 270,000 0
= 50,000
Al 220,000
307 elztol & 270,000 270,000 0
= 50,000
Al 220,000
05 212t =S 270,000 270,000 0
O XY =29
270,000,000 *14] 270,000
== 50,000
Al 220,000
2 U= LRI 438,000 420,000 18,000
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101 @124H| 435,000 415,000 20,000
M ORINZZE2NSES 435,000 415,000 20,000
O 28 81YSY AT2lAY o1y
435,000,000 * 14 435,000
206 MH=H| 3,000 5,000 22,000
01 M=4l 3,000 5,000 22,000
O Zd s|2d=8 2XAME HRFN Ha
-8 3,000,000 *14] 3,000
HALZAOIZNME (HEHIH 2E)(EX) 150,000 0 150,000
= 120,000
=S 9,000
Al 21,000
307 21201 & 150,000 0 150,000
= 120,000
= 9,000
Al 21,000
02 QIZHEAAEE X 150,000 0 150,000
mESIEPEE<3=3-2=
150,000, 0003 * 14! 150,000
= 120,000
= 9,000
Al 21,000
UL ZZRE(NY HSNE)(EX) 100,000 0 100,000
= 70,000
= 9,000
Al 21,000
307 el2to| & 100,000 0 100,000
= 70,000
= 9,000
Al 21,000
02 2B YAIHE & 100,000 0 100,000
O Hz=sSxR 100,000,0002 * 144 100,000
= 70,000
< 9,000
Al 21,000
ddgiiel 2= & N2 1,126,1%6 797,822 328,374
= 176,000
[ 173,550
Al 776,646
SA)GEAANEIZNE(EX) 78,000 78,000 0
= 23,400
Al 54,600
307 elzto| & 78,000 78,000 0
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< 23,400
Al 54,600
02 2IZHB A E £ 78,000 78,000 0
0 E4Jg8ANTRNE
78,000,000& » 14 78,000
= 23,400
Al 54,600
ZEFEUHIE LIS EME(EX) 60,000 75,000 /15,000
== 18,000
Al 42,000
307 212+01& 60,000 75,000 15,000
< 18,000
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O ZSsFEoEe SEAE
60,000,000& » 14 60,000
= 18,000
Al 42,000
HELXC|ZZERHTIZNE(EX) 72,000 0 72,000
== 21,600
Al 50,400
307 212+01™ 72,000 0 72,000
[ 21,600
Al 50,400
02 2B A HE L 72,000 0 72,000
O ZELNeIZSZEFHEZHE
72,000,000 x 14 72,000
= 21,600
Al 50,400
dre|BHELFIGRE(BXR) 48,000 24,000 24,000
s 14,400
Al 33,600
308 AFAIEHMSOIE 48,000 24,000 24,000
& 14,400
Al 33,600
13 S [2S0tHet 34 A AS A 48,000 24,000 24,000
O 2xelgsE I8 i=
48,000,000 * 14 48,000
= 14,400
Al 33,600
HEA(FERY)HYH 2¢ 380,800 359,000 21,800
201 fet= 3| 60,800 59,000 1,800
01 AtR2t2lHl 3,000 3,000 0
0 2elE5| 3,000
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Al 35,000
308 AtXIEHMSOIE 50,000 75,000 225,000
=S 15,000
Al 35,000
13 SI[2SOHe & EAS A 50,000 75,000 /25,000
0 HE&e NAE KA
50,000,000& *14{ 50,000
< 15,000
Al 35,000
HEEAN Al SEXE AMS(EX) 300,000 64,000 236,000
= 150,000
< 45,000
Al 105,000
301 EtE NS 300,000 64,000 236,000
= 150,000
== 45,000
Al 105,000
01 Al 2E A S(EREXME) 300,000 64,000 236,000
O A StAl SEXF At
300,000,000 * 14 300,000
= 150,000
s 45,000
Al 105,000
HE MNESSEEEE 258 NEMP(EX) 52,000 28,000 24,000
= 26,000
s 7,800
Al 18,200
301 EtE NS 52,000 28,000 24,000
= 26,000
= 7,800
Al 18,200
01 Al EE A S (2 RDEEMA) 52,000 28,000 24,000
O 34 HNESSEES 255 N3
& 52,000,000 *14] 52,000
= 26,000
= 7,800
Al 18,200
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g8 A8 HIELA FEHLTRIAG(EX) 5,673 37,934 N32,261
N 2,505
= 1,558




of
i’
oF
uJ

5 B 3 3 S88 12121818
- - = = B |® |6 OIS |G| |
A0 g3 2 & & === B RSN |
Eo < < < J SVl R VAl RV
E
F=)
= = o el
e
<l
RIS
o L W Yo} 0 W
Zl9ees sogesst naes(EEE & g|gIfEREE & & & 8 & E§
— < N < < AN oINS > o [ [e0) (aV] [aV] ™ — — [ aN
=== |g|g|g|N|e =
ar
<
=]
| W= W3 RWZ R W=
T T oo oo ¥ ™ = I
¥ iy vy S L o 2 S 9
z g = = gLz g 8 ¢ F
oir S g S 3 s 8 8 £ g B
= ag a8 ¥ 0% T g g, g g
B < S @ S a8 8 o
. - = g 8 S =S
3 I E Ts 8 co ., mTEE
< W.AHm:_ ol N ™ ol Kr 00 ol =
L1 & o m ¥ o R
=0 X0 = -
= s R0 O > woom < ®o
= nro<l < 3 o O M = W W
= UL AL ol W < KW
it g KR ) I T — of E
o} = Ki Kl = o} K o o ~ 3 03] <
L] T H = i L _|® W o2 T B
4+ P & > RO\ 15 2 uo o | R — AR <8
oF A 2w gl |2 s = — =320 O+ & ® H R
| o R < o = _ I D2 W= =< o o o wm 0
o &J K0 < ] <0 23| o [<0 oK <0 =& a)|80 | F m h 3 <k
R a R’ a 29T 2 ] ey s woa & & K
Rl 5 ol J_@m 5 A J_@m I e mlm ol m |4 | D@ ® o~ A A mm
RO oll =z 0 ol a wlala © = ~ ﬁm % a0 O O O O O
: 5 5 U S y U NI R N Y -
X 3 3 s 7| e |[R[°
Ik =4 W |~
|~
_Jl_




A LRI Z L
Hy: DEEN U KN
ool Ol UEE 013 X (cre:xigl)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
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0 sS4l 1,800
O JIg%&Ed o8 Nd =4
9,000 *x2& »100! 1,800
202 04l 2,820 2,820
01 2LHoIH 2,820 2,820
O olgosEne 9 X
20,0002 x3&+47& 2,820
301 LEetE N = 31,620 31,620
03 A2 E A0S (XIS THH) 30,000 30,000
O NS HPSSHAY
30,000,000 *14! 30,000
11 AALAEIXIE S 1,620 0 1,620
O 22 FeEsl REI|2 Ags) SAH
= 9,000 *10& %102 900
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Jl 32,200
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Al 3,693,158
22H0[1) tMEE OIHAl 2l 1,444,488 397,773 1,046,715
= 26,100
= 283,350
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01 AlR 21| 18,470 17,500 970
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O 22AIZ W3 +42
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O er™ze|(OtA, HI|, 47 5) EEE A
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M LXtelZ Mzt
2 UK 22l € Oone

Cel: SEX0|10 HAE WX 2t EER=E)
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10,0002 * 10001 S =+23] 2,000
O 28 ¥ HEF 2F242
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O AxHE 28 g2= AH
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O B 2=
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Al 7,980
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O A&z DESIPDINFAE
39,600,000 * 14 39,600
= 11,880
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O ZPR22N WIQLYLE 2o
1,892,730&+12.95/100 246
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